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Q1. Who was President during the Great Depression and World
War 2?

A. Franklin D. Roosevelt
B. Theodore Roosevelt
C. Harry S. Truman
D. Woodrow Wilson

Q2. What was the name of Roosevelt's economic recovery
program?

A. The New Deal
B. The Fair Deal
C. The Great Society
D. The Square Deal

Q3. What event prompted the U.S. to enter World War 2?

A. The attack on Pearl Harbor
B. The invasion of Poland
C. The bombing of London
D. The sinking of the Lusitania
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Q4. Which of the following was NOT part of the New Deal?

A. The Marshall Plan
B. Social Security
C. The Tennessee Valley Authority
D. The National Labor Relations Board

Q5. What was Roosevelt's response to the banking crisis?

A. He closed banks temporarily to prevent runs
B. He printed more money
C. He nationalized all banks
D. He did nothing

Q6. Which country did Roosevelt prioritize defeating first in World
War 2?

A. Germany
B. Japan
C. Italy
D. The Soviet Union

Q7. What was the main goal of the New Deal?

A. To provide relief, recovery, and reform
B. To prepare for war
C. To reduce the size of government
D. To eliminate all taxes



Q8. What was the outcome of the D-Day invasion?

A. Allied forces successfully invaded Normandy
B. Germany surrendered immediately
C. The invasion failed
D. The U.S. withdrew from Europe

Q9. How did Roosevelt's health affect his presidency?

A. He died in office before the war ended
B. He resigned due to poor health
C. It had no effect
D. He recovered fully and served another term

Q10. What was one criticism of Roosevelt's New Deal?

A. It increased government size and taxes
B. It did nothing to help the economy
C. It was too focused on foreign policy
D. It eliminated all social programs



Answer Key

1. Q1: A
2. Q2: A
3. Q3: A
4. Q4: A
5. Q5: A
6. Q6: A
7. Q7: A
8. Q8: A
9. Q9: A

10. Q10: A


